Calc 1
Test Review 

Integration

Evaluate the given indefinite integral:
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Evaluate the definite integral (non-calculator):
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Evaluate the definite integral (calculator may be used after integral is taken):
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Approximate the area bound by the curve and the x-axis in the given interval using right and left end-point approximations with the given n value. Sketch the graph and the first 3 rectangles:
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Find the exact area bound by the given function in the given interval. Sketch the graph and shade the area you are finding:
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Find f(x) given the following information:
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Given F(x), find F’(x):

21. 
[image: image21.wmf](

)

2

4

2

3

()5

x

Fxttdt

=-

ò





22. 
[image: image22.wmf]2

cos()

3

()tan(2)

x

x

Fxxdx

=

ò


Find the average value of the given function on the given interval. Find the x value at which the average value occurs:
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